Figure 1
A) CRP 0.1 pug/ml B) U46619 3 uM C) Collagen 1 pg/ml D) Thrombin 0.025 U/ml
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Figure 1 continued
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Figure 2
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Figure 3
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CRP 0.1 pg/ml
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Figure 5
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Figure 6
A) Vehicle Quercitrin B)
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Figure 6 Continued

C) Vehicle Quercitrin
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Figure 6 Continued
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Figure 6 Continued
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Figure 7

Quercitrin (mg/kg, BW)

A) Vehicle 100 D) § 15001 Kkk
o *%
a» i 5
- S 1000- b Yy
=} +'—
g ¢ . v"
o 5001 _agee Tam
© Set
=
= : : ;
Vehicle 50 100

Quercitrin (mg/kg, BW)

B ) — ) ES E ) — 400+
< 50; £ 30000 o
~ = 172
%40_ -1 * _E —_—T * g 300“ . ... -
[y - L ] A
g 30 —_ S 20000 i S 200 P : - .‘.‘A
N ¥k £ ke o " . ad
© 204 5 5
ot o 10000+ © 100
S 10 £ o
g S [a1]
D . . 9 0 : . 0 - ; :
Vehicle 50 100 Vehicle 50 100 Vehicle 50 100

Quercitrin (mg/kg, BW) Quercitrin (mg/kg, BW) Quercitrin (mg/kg, BW)



Figure 8
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